Ch 4 7

‘/O“

0?) 50
4) “%
¢) 23g

Q67 #a-4z gy (Sff 43’30)

|
|

TP
)z
36) S(e) =25 SG)
S(/Do) ~2.0%

S{/DDQ =), 0035
512 000) =2.0005

35’) S(h) = 3;“3[343%’(',\2_,3,,‘&]

2a+5"

Sl 0——\

n

il,) n = "’I)] S{ro) =105 (
f =y . N =
i) - > (ﬁ_) 5 1e0) =.00456 ¢
s " S(12e0) = Los0685 6 F
) 5* 52 )= [.co00ss
Z(Qz‘—s) =2 7 i-ys) S(5,000) = (0000664 7
£=) (=i ' ) B
) (o ; ['LD) ,ﬁg; Z(“,{,‘) =g, .
1) 7 () =52, <
SVe-¥ ) Z 2\%_/ s L(‘)_) D’l(/,,tgﬂ—q/g) - %ﬁ
| 2 o =
e o | |
) T o= 12O) 100
By ey Lt >

22) )

—(5(1¢) = /4 ){p




Ch. L4y Q4-30

qu)y S =1(
gv’”:,iO

26) S=*%
5= 45

%) (&)= ~co3y

s(g)z X585

3 D) S(s)= 2.5

s(5) = 0.659




Ch. 4.9 F@ze # 50-57 Al

5‘0) A =1
52.) 4:4/3
<), '7%:’3/4 |

Cht3  pd79 #3»—&:2,);_3#3

P

5

/o) J iféx(ff#jix on [o\ﬂ‘
1) jgigu o~ 11,9)
1) j (4B

o?@ A= ‘r:ﬁﬁ& ::J;L
2%) A= g‘ (F) k=352
3u) A= j (;p— Ay =

/4

%) A:f Joioa Ay =tw?
-r




